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	1st Piece (x)
	2nd Piece (x + 26)
	1st piece + 2nd piece
	= 100?

	20
	46
	20 + 46 
	66 (too low)

	
	
	
	

	
	
	
	

	
	
	
	



Declare Answer:__________________________________________
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Problem Solving

with the 5D Process
Describe: Define:
-What information is important? E> -What are the variables of the problem?
-What is the question asking? -What approach canh you take?

Do: Make a | |Look for| | Guess ¢
-Colve using your method of choice. <:, Table patterns Check

g Draw a Write an Use a
picture equation formula

Decide: a
-Having trouble? Try ahother approach. DecClare:
-Does your ahswer make sense? -Ctate your answer with a
E> Ccomplete sentence.

-Check to be sure.
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HELPFUL QUESTIONS TO ASK YOUR STUDENT

If your student is having difficulty with a 5-D problem, it may be because he/she does not
understand the problem, not because he/she does not understand the 5-D process. Here are some
helpful questions to ask when your child does not understand the problem. (These are useful in
non-word problem situations, too.)

What are you being asked to find?
‘What information have you been given?
Is there any unneeded information? If so, what is it?

Is there any necessary information that is missing? If so, what information do you need?





image4.png
Problems
Solve these problems using the 5-D process. Write each answer in a sentence.

1. A wood board 100 centimeters long is cut into two pieces. One piece is 26 centimeters
longer than the other. What are the lengths of the two pieces?
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Thu is five years older than her brother Tuan. The sum of their ages is 51.
What are their ages?

Tomas is thinking of a number. If he triples his number and subtracts 13, the result is 305.
What is the number that Tomas is thinking about?

Two consecutive numbers have a sum of 123. What are the two numbers?
Two consecutive even numbers have a sum of 246. What are the numbers?

Joe’s age is three times Aaron’s age and Aaron is six years older than Christina. If the sum
of their ages is 149, what is Christina’s age? Joe’s age? Aaron’s age?

Farmer Fran has 38 barnyard animals, consisting of only chickens and goats. If these
animals have 116 legs, how many of each type of animal are there?
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A wood board 156 centimeters long is cut into three parts. The two longer parts are the
same length and are 15 centimeters longer than the shortest part. How long are the three
parts?

Juan has 15 coins, all nickels and dimes. This collection of coins is worth 90¢. How many
nickels and dimes are there? (Hint: Create separate column titles for, “Number of
Nickels,” “Value of Nickels,” “Number of Dimes,” and “Value of Dimes.”)

Tickets to the school play are $ 5.00 for adults and $ 3.50 for students. If the total value of
all the tickets sold was $2517.50 and 100 more students bought tickets than adults, how
many adults and students bought tickets?

A wood board 250 centimeters long is cut into five pieces: three short ones of equal length
and two that are both 15 centimeters longer than the shorter ones. What are the lengths of
the boards?

Conrad has a collection of three types of coins: nickels, dimes, and quarters. There is an
equal amount of nickels and quarters but three times as many dimes. If the entire collection
is worth $ 9.60, how many nickels, dimes, and quarters are there?




